Advanced Placement Calculus Name

Copy original problem. Per Date

Convince me that you understand the concept!

No decimal answers. Chapter 5 Exam

| Determineif 43 + x2 = /x +2 issolvable (20 pts)

@ Usingawindow with x ¢ [-22] y & [-14]
graph y = x3 + x2 and y = +/Xx + 2. Sketch your picture on your paper.
b) What conclusion can you make concerning the objective of this problem and your resultsin part (a)?

c) Defineafunction, f(x) whichisthe difference of the two given equations. Find the narrowest

interval [a,b] suchthat aand b areintegersandthat f (a) and f (b) areintegers which have
different signs. Explain, of course.

d) Using the material abovein part, prove the objective of this problem. (ie. Prove a solution exists.)
Give aprecise answer. Bevery specific. Allow for no misinterpretations.

o .1 [2- . 2-X
| Show that the derivative of : (v1+ x)(v2- x) - 3sin™ 3 X s T (20 pts)
III . . 'I:()():%_x2 ifx<0
Given: Bx2  ifx20
Find al three points on the graph of f whose tangent lines pass through (4, 3) (20 pts)
| V . . dy dy . .
Given y. Find dx then evaluate dx at theindicated abscissavalue. (10 ptsea)

a) y:In‘x +4x? =25

+In‘x—\/x2 —25‘ ..................................... % =5

B)  y = (@ctan X)COSX X = g
C) y = XXX .......................................................................................... X =2
d) oy = X X s x =In2
Extra Credit --------======mmmmmmm e O PUS =mmmmm e

Jane can clean the bamboo hut in seven hours and Tarzan can clean the hut in eight hours. Being accurate
to the nearest minute, if they both start cleaning at 2 p.m., what time will they finish?



